

A.K. Gupta *

Bowling Green State University
Department of Mathematics and Statistics
Bowling Green
Ohio, U.S.A.

D.K. Nagar
University of Rajasthan
Department of Mathematics
Rajasthan, India

ON A TEST STATISTIC CONNECTED WITH THE MULTIVARIATE BEHRENS - FISHER PROBLEM

ABSTRACT

The exact null distribution of a test statistic proposed earlier for testing equality to two mean vectors under the intraclass correlation models has been derived in terms of generalized hypergeometric function as well as in series form suitable for computation. Explicit expressions of the density are given for $p = 2, 3, 4$ and 5 .

RESUMEN

La distribución nula exacta de un estadístico de prueba propuesto con anterioridad para examinar la igualdad de dos vectores medios bajo los modelos de correlación de interclases, ha sido deducida en términos de la función hipergeométrica generalizada, así como en forma de series adecuadas para la computación. Se mencionan expresiones explícitas de la densidad para $p = 2, 3, 4$ y 5 .

1. INTRODUCTION

Let X and Y be independent $p \times m$ and $p \times n$ random matrices whose columns are independently and identically distributed as

$N_p(\underline{\mu}_1, \Sigma_1)$ and $N_p(\underline{\mu}_2, \Sigma_2)$ respectively. Also, let

$$\Sigma_i = \Sigma(\rho_i, \sigma_i) = \sigma_i^2 [(1-\rho_i)I_p + \rho_i \underline{e}\underline{e}'], \quad i = 1, 2,$$

where I_p is the identity matrix of order p and $\underline{e} = (1, \dots, 1)_{p \times 1}$.

Press (1967) combined Scheffé-Bennett procedure with the likelihood ratio test and derived a test statistic Λ for testing $H: \underline{\mu}_1 = \underline{\mu}_2$ and showed that h -th null moment of Λ is (n/m)

$$E(\Lambda^h) = \frac{\Gamma[(m-1)/2 + h] \Gamma(m/2)}{\{\Gamma(m/2 + h) \Gamma((m-1)/2)\}} \prod_{j=0}^{p-2} \frac{\Gamma[(m-1)/2 + j/(p-1) + h]}{\Gamma[m/2 + j/(p-1)] \Gamma[(m-1)/2 + j/(p-1)] \Gamma[m/2 + j/(p-1) + h]}. \quad (1.2)$$

$$\prod_{j=0}^{p-2} \frac{\Gamma[(m-1)/2 + j/(p-1) + h]}{\Gamma[m/2 + j/(p-1)] \Gamma[(m-1)/2 + j/(p-1)] \Gamma[m/2 + j/(p-1) + h]}.$$

$$\Gamma[m/2 + j/(p-1)] \Gamma[(m-1)/2 + j/(p-1)] \Gamma[m/2 + j/(p-1) + h]}. \quad (1.2)$$

$$j/(p-1)] \Gamma[m/2 + j/(p-1) + h]}. \quad (1.2)$$

This article deals with the distributional problem of Λ . For related work see Pillai and Gupta (1969), Gupta (1971) and references given there. In section 2, the density of Λ has been derived in terms of G -function, using inverse Mellin transform and the definition of G -function. In section 3, the series form of the density is given which has been obtained using residue theorem. Special cases of the density are given for $p = 2, 3, 4$ and 5 .

2. DENSITY OF Λ

By using inverse Mellin transform and the expression (1.2), the density of Λ , denoted by $f(\lambda)$, is given by

$$f(\lambda) = K(m, p) (2\pi\omega)^{-1} \int_C \frac{\Gamma[(m-1)/2 + h]}{\Gamma[m/2 + h]} \prod_{j=0}^{p-2} \frac{\Gamma[(m-1)/2 + j/(p-1) + h]}{\Gamma[m/2 + j/(p-1)] \Gamma[(m-1)/2 + j/(p-1)] \Gamma[m/2 + j/(p-1) + h]} \lambda^{-1-h} dh, \quad 0 < \lambda < 1.$$

$$\prod_{j=0}^{p-2} \frac{\Gamma[(m-1)/2 + j/(p-1) + h]}{\Gamma[m/2 + j/(p-1)] \Gamma[(m-1)/2 + j/(p-1)] \Gamma[m/2 + j/(p-1) + h]} \lambda^{-1-h} dh.$$

$$\Gamma[m/2 + j/(p-1) + h]} \lambda^{-1-h} dh. \quad 0 < \lambda < 1.$$

$$= K(m,p) (2\pi\omega)^{-1} \lambda^{(m-3)/2} \int_{C_1} \left[\frac{\Gamma(\alpha)}{\Gamma(\alpha+1/2)} \right] \prod_{j=0}^{p-2} \left\{ \frac{\Gamma[\alpha + j/(p-1)]}{\Gamma[\alpha+1/2+j/(p-1)]} \right\} \lambda^{-\alpha} d\alpha, \quad 0 < \lambda < 1 \quad (2.1)$$

where $\omega = (-1)^{1/2}$

$$K(m,p) = \left\{ \frac{\Gamma[m/2]}{\Gamma[(m-1)/2]} \right\} \prod_{j=0}^{p-2} \left\{ \frac{\Gamma[m/2+j/(p-1)]}{\Gamma[(m-1)/2 + j/(p-1)]} \right\} \quad (2.2)$$

and C, C_1 are the suitable contours. From the theory of G-functions it is easy to see that C and C_1 can always be found and (2.1) can be put in terms of G-function [Erdélyi et al. (1953), p.207] as

$$f(\lambda) = K(m,p) \lambda^{(m-3)/2} G_{p,p}^{p,0} \left[\begin{matrix} \lambda \\ \lambda \end{matrix} \middle| \begin{matrix} 1/2, 1/2+j/(p-1), \\ 0, j/(p-1), \end{matrix} \right. \quad (2.3)$$

$$\left. \begin{matrix} j = 0, 1, \dots, p-2 \\ j = 0, 1, \dots, p-2 \end{matrix} \right] \quad 0 < \lambda < 1.$$

Using the well known result on the G-function, namely,

$$G_{2,2}^{2,0} \left[z \middle| \begin{matrix} \alpha_1+\beta_1-1, \alpha_2+\beta_2-1 \\ \alpha_1-1, \alpha_2-1 \end{matrix} \right] = \left[z^{\alpha_2-1} (1-z)^{\beta_1+\beta_2-1} / \Gamma(\beta_1+\beta_2) \right] {}_2F_1(\alpha_2+\beta_2-\alpha_1, \beta_1; \beta_1+\beta_2; 1-z), \quad |z| < 1 \quad (2.4)$$

the density (2.3) for $p = 2$ is given by

$$f(\lambda) = K(m,2) \lambda^{(m-3)/2} {}_2F_1(1/2, 1/2; 1; 1-\lambda),$$

and for $p = 3$ by

$$f(\lambda) = K(m,3) \lambda^{(m-3)/2} \{(1-\lambda)^{1/2} / \Gamma(3/2)\} {}_2F_1(1, 1/2; 3/2; 1-\lambda). \quad (2.5)$$

On using (16) of Erdélyi et al. (1953, p.102), (2.5) becomes

$$f(\lambda) = 2K(m,3) \pi^{-1/2} \lambda^{(m-3)/2} \log[(1 + \sqrt{1-\lambda}) / \sqrt{\lambda}], \quad 0 < \lambda < 1. \quad (2.6)$$

3. DENSITY IN SERIES FORM

General series expansion of the density $f(\lambda)$ is obtained by using residue theorem on the right hand side of (2.1). Two cases, p -even and p -odd, are considered separately.

Case I : p -odd.

Cancelling out the common factors in the integrand of (2.1), the density $f(\lambda)$ is rewritten as

$$f(\lambda) = K(m,p) \lambda^{(m-3)/2} (2\pi\omega)^{-1} \int_{C_1} \left\{ \frac{\Gamma(\alpha)}{\Gamma(\alpha+1/2)} \right\} \prod_{j=0}^{(p-3)/2} \left[\frac{\Gamma[\alpha+j(p-1)]}{\Gamma[\alpha+j(p-1)]} \right]^{-1} \lambda^{-\alpha} d\alpha. \quad (3.1)$$

The integrand has poles of order unity at $\alpha = -i/(p-1)$, $i = 1, 2, \dots, (p-3)/2$; $\alpha = -i$, $i = 1, 2, \dots$; and a pole of order 2 at $\alpha = 0$. The residue at $\alpha = -i/(p-1)$ is

$$\Gamma[-i/(p-1)] \lambda^{i/(p-1)} / \left\{ \Gamma[1/2 - i/(p-1)] \prod_{j=0}^{(p-3)/2} [(j-i)/(j-1)] \right\}$$

$(p-1)]$; the residue at $\alpha = -i$ is

$$\lambda^i / \left\{ \Gamma[1/2 - i] \left[\prod_{j=0}^{(p-3)/2} (-i+j/(p-1)) \prod_{j=0}^{i-1} (j-1) \right] \right\}, \quad \neq i$$

and the residue at $\alpha = 0$ is $[-\log \lambda + \psi(1) - \psi(1/2)]$

$$-\sum_{j=1}^{(p-3)/2} \left\{ \frac{j}{(p-1)} \right\}^{-1} \left[\frac{1}{\Gamma(1/2)} \sum_{j=1}^{(p-3)/2} \left\{ \frac{j}{(p-1)} \right\} \right],$$

where $\psi(\cdot)$ is the well known psi function [Erdélyi et al. (1953), p. 15]. Simplifying these with the help of conversion formula [Mathai (1982), eqn. 2.7], equations (6) and (7) of Erdélyi et al. (1953, p. 3); and equation (12) of Erdélyi et al. (1953, p. 16) and using the residue theorem one has the following result.

$$f(\lambda) = K(m,p) \lambda^{(m-3)/2} \left[\frac{1}{\Gamma(1/2)} \sum_{j=1}^{(p-3)/2} \left\{ \frac{j}{(p-1)} \right\} \right]$$

$$\left[-\log(\lambda/4) - \sum_{j=1}^{(p-3)/2} \left\{ \frac{j}{(p-1)} \right\} + (-1)^j \cot \{ \pi j / (p-1) \} \right]$$

$$- \sum_{j=1}^{(p-3)/2} \left\{ \frac{j}{(p-1)} \right\}^{-1} \left[\frac{1}{\Gamma(1/2)} \sum_{j=1}^{(p-3)/2} \left\{ \frac{j}{(p-1)} \right\} \right]$$

$$+ \sum_{j=1}^{(p-1)/2} \lambda^{j/(p-1)} \Gamma(1/2) \left(\frac{p-3}{2} \right)! \left[\frac{1}{\Gamma(j/(p-1))} \right]$$

$$\left[\Gamma^2(1/2) j! \prod_{k=0}^{(p-3)/2} \left(\frac{j-k}{(p-1)} \right) \right], \quad (3.2)$$

$$0 < \lambda < 1.$$

For $p=5$, the above expression reduces to

$$f(\lambda) = K(m,5) \lambda^{(m-3)/2} \left[-\log(\lambda/4) - 4 \right]$$

$$+ 4 \left[\frac{\Gamma(3/4) \Gamma(1/2)}{\Gamma(1/4)} \right] \lambda^{1/4} + \sum_{j=1}^{\infty} \lambda^j \Gamma(1/2+j) /$$

$$\left[\Gamma(1/2) j (j-1/4) j! \right], \quad 0 < \lambda < 1.$$

Case II : p-even.

In this case the poles are of second order at $\alpha = -i$, $i = 0, 1, \dots$, and of order unity at $\alpha = (-i - k)/(p-1)$, $k = 1, 2, \dots, p-2$, $i = 0, 1, \dots$. The residue at $\alpha = -i$ is $\lambda^{-i} [-\log \lambda + 2\psi(1)]$

$$- 2 \sum_{j=0}^{i-1} (j-i)^{-1} - 2\psi(1/2-i) + \sum_{j=1}^{p-2} \left\{ \frac{j}{(p-1)-i} \right\}$$

$$- \psi \left\{ \frac{j}{(p-1) + 1/2 - i} \right\} \left[\prod_{j=1}^{p-2} \left\{ \frac{j}{(p-1)-i} \right\} \right] / \Gamma[1/2$$

$$+ j/(p-1)-i] / \left[\Gamma^2(1/2-i) \prod_{j=1}^{i-1} (j-i)^2 \right]. \text{ The residue}$$

$$\text{at } \alpha = -k/(p-1)-i \text{ is } \Gamma^2[-i-k/(p-1)] \prod_{j=1}^{p-2} \left\{ \frac{j-k}{(p-1)-i} \right\}$$

$$/ \left[\Gamma^2[1/2-i-k/(p-1)] \prod_{j=0}^{i-1} (j-i) \prod_{j=1}^{p-2} \left\{ \frac{j-k}{(p-1)-i} \right\} \right].$$

Simplifying these with the help of the conversion formula [Mathai (1982), eqn. 2.7] and 1.7.1 of Erdélyi et al. (1953, p. 16), and using the residue theorem the density given in (2.1) is obtained as

$$f(\lambda) = K(m,p) \lambda^{(m-3)/2} \sum_{i=0}^{\infty} \left[-\log \lambda + 2\psi(i+1) \right]$$

$$- 2\psi(i+1/2) + \sum_{j=1}^{p-2} \left\{ \frac{j}{(p-1)-i} \right\} \left[\frac{1}{\Gamma(1/2-j/(p-1)+i)} \right]$$

$$- \pi \tan j\pi \left(\frac{1}{2} + i \right) \left[\frac{1}{\Gamma(1/2-j/(p-1)+i)} \right] \prod_{j=1}^{p-2} \left\{ \frac{j}{(p-1)-i} \right\}$$

$$\left[\frac{1}{\Gamma(1/2-j/(p-1)+i)} \right] / \left[\Gamma(1/2+j/(p-1)) \right]$$

$$+ \sum_{k=1}^{p-2} \left[\frac{1}{\Gamma^2[-k/(p-1)-i]} \right] \left[\frac{1}{\Gamma(1/2-j/(p-1)+i)} \right]$$

$$\left[\frac{1}{\Gamma^2[1+k/(p-1)-i]} \right] \cdot \left[\frac{1}{\Gamma^2[1/2+k/(p-1)+i]} \right] / \left[\Gamma^2[1+i+k/(p-1)] \right]$$

$$\left[\frac{1}{\Gamma^2[1/2-k/(p-1)-i]} \right] \cdot \left[\frac{1}{\Gamma^2[1/2+k/(p-1)+i]} \right] \prod_{j=1}^{p-2} \left\{ \frac{j-k}{(p-1)-i} \right\}$$

$$-k)/(p-1)] \Gamma [1-(j-k)/(p-1)] / \Gamma [i+1-(j-k)/(p-1)] \prod_{j=1}^{p-2} [\Gamma [1/2-(j-k)/(p-1)+i] / \Gamma [1/2-(j-k)/(p-1)]] \Gamma [1/2+(j-k)/(p-1)] \lambda^{i+k/(p-1)},$$

$$0 < \lambda < 1.$$

As a special case, the density for $p=4$ is given by,

$$f(\lambda) = K(m,4) \lambda^{(m-3)/2} \sum_{i=0}^{\infty} [-\log \lambda + 2\psi(i+1) - 2\psi(i+1/2) + \psi(i+1/3) + \psi(i+2/3) - \psi(i+1/6) - \psi(i-1/6)] \lambda^i \Gamma^2(1/3)$$

$$\Gamma^2(2/3) \Gamma^2(i+1/2) \Gamma(1/6+i) \Gamma(-1/6+i) / \Gamma(5/6) \Gamma(7/6)$$

$$\Gamma(i+1/3) \pi \Gamma(i+2/3) \Gamma(1/6) \Gamma(-1/6) (i!)^{2/3} + \lambda^{1/3+i}$$

$$\Gamma^2(-1/3) \Gamma^2(4/3) \Gamma^2(5/6+i) \Gamma(1/3) \Gamma(2/3) \Gamma(1/2+i)$$

$$\Gamma(1/6+i) / \Gamma^2(4/3+i) (i!) \Gamma^3(1/6) \Gamma^3(5/6) \Gamma(2/3+i)$$

$$\Gamma^2(1/2) + \lambda^{2/3+i} \Gamma^2(-2/3) \Gamma^2(5/3) \Gamma^2(7/6+i) \Gamma(-1/3)$$

$$\Gamma(4/3) \Gamma(1/2+i) \Gamma(5/6+i) / \Gamma^2(5/3+i) (i!) \Gamma^2(-1/6)$$

$$\Gamma^2(7/6) \Gamma(4/3+i) \Gamma^2(1/2) \Gamma(1/6) \Gamma(5/6)],$$

$$0 < \lambda < 1.$$

* Part of this research was done while he was University Grants Commission Visiting Fellow at the University of Rajasthan. AMS 1979 subject classification : Primary 62H40;

Secondary 62H10. Key words and phrases : Intra-class correlation model, generalized hypergeometric function, exact distribution, residue theorem.

REFERENCES

- 1) ERDELYI, A., et al. : "Higher Transcendental Functions", Vol. I. McGraw-Hill, New York. (1953)
- 2) GUPTA, A.K. : "Noncentral distribution of Wilks' Statistics in MANOVA". Ann. Math. Statist. 42, 1254-1261. (1971).
- 3) MATHAI, A.M. : "On a conjecture in geometric probability regarding asymptotic normality of a random simplex". Ann. Prob. 10, 247-251. (1982)
- 4) PILLAI, K.C.S., and GUPTA, A.K. : "On the exact distribution of Wilks' criterion". Biometrika 56, 109-118. (1969).
- 5) PRESS, S.J. : "Structured multivariate Behrens-Fisher problem". Sankhyā, Ser. A, 29, 41 - 48. (1967)

Recibido el 26 de Marzo de 1985
y en forma revisada el 9 de Enero de 1986